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Modular Multiplicative Inverse

Solve the Modular Multiplicative Inverse problem.

Input Specification

Line 1:  ( ,  is coprime to )

Note: The values will not fit in a 32 bit integer. They will fit in a 64 bit unsigned integer. For languages that do
not have unsigned data types, please use a general big integer.

Output Specification

Line 1: The modular multiplicative inverse of  modulo . The value should be nonnegative.

Sample Input

2 7

Sample Output

4

Time limit: 1.0s  Memory limit: 256M

N ,M 0 ≤ N < M ≤ 1019
N M

N M

https://en.wikipedia.org/wiki/Modular_multiplicative_inverse

